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# W B (n) 3.5 4.0 5.1 5.3 3.6 3.7 4.8 4.3 3.5 4.0 5.1 5.3 5.8 4.7 4.8 4.3
p H 2.0 2.1 8.6 2.0 2.3 b4 2.4 2.3 6.8 | 2 6.5 6.7 7.1 6.4 7.5 7.0
KigeEnE (7 ./ 1000g) 5 2 46 g6 | 130 | 100 R0 | 20 8 w al 20 | o0 | 30 | uwog | 2300
I o ma 2) | 10.9 g4 | 853 9.2 “r2 | 28 9.9 | 85 [ 103 a0 | o6 | o3 2.0 8.2 8.7 9.4
BOD wg/ £) 2.1 1.3 1.2 os | 06 | 15 0.3 | 0.8 | 0.3 0.9 | 0.5 0.6 | 0.2 0.6 0.8 0.7
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p H " 6.7 2.0 6.4 2.3 2.1 6.3 2.4 2.3 6.7 2.0 6.5 6.4 2.1 6.8 2.4 6.9
KigpgaEs ( 7/100n2) 4 5 48 348 3300 1700 500 2300 14 4 33 542 1200 1400 6300 | 14000
b o @3/ 2) 10.7 9.5 2.4 8.3 6.9 .8 9.2 8.8 0.1 9.5 8.0 9.3 6.9 2.8 8.1 9.7
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p H 6.8 2.0 6.8 &.8 2.2 6.8 2.4 6.8 6.8 2.0 6.7 2.3 2.2 6.6 2.5 6.9.
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Do (wg/¢) 10.8 10.5 8.0 9.0 2.2 8.0 10.1 i.2 | 10.6 9.8 9.0 9.4. 2.0 8.0 0.0 11.2
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18 4.0 5.9 9.0 127 162 157 125 8.0
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